MB&B 452a/752a Quiz #2

[:Q1:] Orthologs usually have the same: (a) function, (b) fold, (c) both fold and function, (d) neither?

[:Q2:] Discussion of the number of shared folds between genomes could be improved by a better understanding of which of the following: (a) biases in the PDB, (b) biases in GenBank, (c) further experimental effort in structural genomics, (d) a + c; (e) a + b + c; (f) b + c; (g) none of the above. 

[:Q3:] k-means is a [T]op-down or [B]ottom-up type of clustering?

[:Q4:] Computational genome comparison allows one to find (a) new protein secondary structures; (b) new possible combinations of di-nucleotides; (c) new metabolites; (d) a + c; (e) a + b + c; (f) b + c; (g) none of the above. 

► Consider the following set of three tables. ID is a yeast ORF identifier, MOTIF is a unique identifier for a type of protein motif that is present in yeast, MLEN is the (unique) length of this type of motif, and OLEN is the length of the yeast ORF.

id      motif mlen olen

YAL001C fing  50   3572

YAL002W hand  40   3530

YAL002W ploop 20   3530

YAL003W -     -    986

YAL004W hand  40   647

YAL004W thumb 90   647

YAL005C fing  50   1928

YAL007C -     -    647
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[:Q5:] Is the LEFT table completely normalized (Y/N)? 

[:Q6:] Is the MIDDLE table completely normalized (Y/N)? 

[:Q7:] Is the RIGHT table completely normalized (Y/N)? 

[:Q8:] In the context of the MIDDLE table, the motif field acts as: (a) a key; (b) a foreign key; (c) an attribute; (d) a + c; (e) a + b + c; (f) b + c; (g) none of the above? 

[:Q9:] As the sequence identity between two homologous sequences increases from 50% to 90%, the RMS difference, after least-squares fitting, between their corresponding structures becomes [L]arger or [S]maller? 

[:Q10:] Is it possible to find an optimal 3D structural alignment though dynamic programming: (a) YES, (b) NO, (c) Sort of, the dynamic programming needs to be augmented by energy minimization, (d) Sort of, the dynamic programming needs to be iterated, (e) none of the above. 







